

## CONVOLUTION IDENTITIES FOR CENTRAL BINOMIAL NUMBERS

Roman Wituła<sup>1 §</sup>, Edyta Hetmaniok<sup>2</sup>,  
Damian Słota<sup>3</sup>, Natalia Gawrońska<sup>4</sup>

<sup>1,2,3,4</sup>Institute of Mathematics  
Silesian University of Technology  
Kaszubska 23, 44-100 Gliwice, POLAND

**Abstract:** Scope of this paper is the generalization of certain convolution-type identities for the central binomial numbers given by Lehmer. Some classical Lehmer's and Riordan-Stadler's formulae for these numbers in the new original expression and their application are also presented.

**AMS Subject Classification:** 05A10, 05A19

**Key Words:** central binomial numbers, convolutions

### 1. Introduction

This paper is a follow-up of the research initiated by the authors in [8], inspired, first and foremost, by Lehmer's publication [4] where from many attractive results the new questions arose.

The paper is divided into four sections. In the second one, the basic known and some new convolution identities for central binomial numbers are presented. In the third section, an overview of certain Lehmer's formulae from [4] is given. And finally, in the fourth section, the new polynomial identities are proven in view of the discussion of certain Lehmer's identities.

---

Received: March 13, 2013

© 2013 Academic Publications, Ltd.  
url: [www.acadpubl.eu](http://www.acadpubl.eu)

<sup>§</sup>Correspondence author

## 2. Basic Identities

In the derivation of convolution identities for central binomial coefficients  $a_n := \binom{2n}{n}$ ,  $n = 0, 1, 2, \dots$  a basic role is played by the generating function of  $a_n$  (see [2, 5]; moreover, for interesting context see [1]):

$$f(x) := \frac{1}{\sqrt{1-4x}} = \sum_{n=0}^{\infty} a_n x^n, \quad x \in \left[-\frac{1}{4}, \frac{1}{4}\right). \quad (1)$$

Let us present now a set of some known and probably new convolution-type identities for  $a_n$ .

**Proposition 1.** *We have*

$$\sum_{k=0}^n a_k a_{n-k} = 4^n, \quad (2)$$

$$\sum_{k=0}^n (-1)^k a_k a_{n-k} = \begin{cases} 0, & \text{when } n \text{ is odd;} \\ 2^n a_{n/2}, & \text{when } n \text{ is even,} \end{cases} \quad (3)$$

$$4^n \sum_{k=0}^n \left(-\frac{1}{4}\right)^k a_k = \sum_{k=0}^{\lfloor n/2 \rfloor} 4^k a_k a_{n-2k}, \quad (4)$$

and

$$\begin{aligned} \sum_{k=0}^n a_k a_{n-k} x^k y^{n-k} &= \left(-\frac{4xy}{(x-y)^2}\right)^{1/2} \\ &\cdot \left(-\frac{8xy}{x+y}\right)^n \sum_{k=\lfloor (n+1)/2 \rfloor}^{\infty} a_k \binom{2k}{n} \left(\frac{x+y}{2(y-x)}\right)^{2k}, \end{aligned} \quad (5)$$

whenever  $|x+y| < |x-y|$ .

*Proof.* (4). We have

$$\begin{aligned} f(x) f(4x^2) &= (f(x))^2 f(-x) \\ &= \left(\sum_{n=0}^{\infty} (4x)^n\right) \left(\sum_{n=0}^{\infty} a_n (-x)^n\right) = \sum_{n=0}^{\infty} 4^n \left(\sum_{k=0}^n \left(-\frac{1}{4}\right)^k a_k\right) x^n. \end{aligned}$$

On the other hand, we obtain

$$f(x) f(4x^2) = \left( \sum_{n=0}^{\infty} a_n x^n \right) \left( \sum_{n=0}^{\infty} 4^n a_n x^{2n} \right) = \sum_{n=0}^{\infty} \left( \sum_{k=0}^{\lfloor n/2 \rfloor} 4^k a_k a_{n-2k} \right) x^n.$$

For proving (5), first we obtain

$$\begin{aligned} f(\alpha x) f(\beta x) &= \left( \sum_{n=0}^{\infty} a_n (\alpha x)^n \right) \left( \sum_{n=0}^{\infty} a_n (\beta x)^n \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n a_k a_{n-k} \alpha^k \beta^{n-k} \right) x^n. \end{aligned} \tag{6}$$

Next, we generate the formula

$$\begin{aligned} f(\alpha x) f(\beta x) &= \left( \frac{-4\alpha\beta}{(\alpha-\beta)^2} \right)^{1/2} f \left[ \left( \frac{4\alpha\beta}{\alpha-\beta} \left( x - \frac{\alpha+\beta}{8\alpha\beta} \right) \right)^2 \right] \\ &= \left( \frac{-4\alpha\beta}{(\alpha-\beta)^2} \right)^{1/2} \sum_{n=0}^{\infty} a_n \left[ \frac{4\alpha\beta}{\alpha-\beta} \left( x - \frac{\alpha+\beta}{8\alpha\beta} \right) \right]^{2n} = \left( \frac{-4\alpha\beta}{(\alpha-\beta)^2} \right)^{1/2} \\ &\quad \cdot \sum_{n=0}^{\infty} \left[ \sum_{k=\lfloor (n+1)/2 \rfloor}^{\infty} a_k \left( \frac{4\alpha\beta}{\alpha-\beta} \right)^{2k} \binom{2k}{n} \left( -\frac{\alpha+\beta}{8\alpha\beta} \right)^{2k-n} \right] x^n, \end{aligned}$$

which, by (6), implies formula (5). □

In this place we note that the Stirling formula leads to the following asymptotic expansion (see [3]):

$$\binom{2n}{n} = \frac{4^n}{\sqrt{\pi n}} \left( 1 - \frac{1}{8n} + \frac{1}{128n^2} + O\left(\frac{1}{n^3}\right) \right), \tag{7}$$

which implies that the series

$$\sum_{k=\lfloor (n+1)/2 \rfloor}^{\infty} a_k \binom{2k}{n} \left( -\frac{\alpha+\beta}{2(\alpha-\beta)} \right)^{2k}$$

is convergent if and only if the condition  $|\alpha - \beta| > |\alpha + \beta|$  is satisfied.

### 3. Lehmer's Convolution-Type Formula

We have also

$$\int f\left(\frac{x^2}{4}\right) dx = \arcsin x + C,$$

which, in view of (1), implies the Maclaurin expansion of  $\arcsin x$ :

$$\arcsin x = \sum_{n=0}^{\infty} \frac{1}{4^n} \binom{2n}{n} \frac{x^{2n+1}}{2n+1}, \quad x \in [-1, 1]. \quad (8)$$

Hence, we derive the identity given below

$$\begin{aligned} x f\left(\frac{x^2}{4}\right) \arcsin x &= \left( \sum_{n=0}^{\infty} 4^{-n} a_n x^{2n+1} \right) \left( \sum_{n=0}^{\infty} 4^{-n} a_n \frac{x^{2n+1}}{2n+1} \right) \\ &= \sum_{n=0}^{\infty} \left( 4^{-n} \sum_{k=0}^n \frac{a_k a_{n-k}}{2k+1} \right) x^{2(n+1)}. \end{aligned} \quad (9)$$

Moreover, we have the following Lehmer's formula (see [4, formula (15)]):

$$\sum_{n=1}^{\infty} \frac{(2x)^{2n}}{a_n} = \frac{x^2}{1-x^2} + \frac{x \arcsin x}{(1-x^2)^{3/2}}, \quad (10)$$

which implies

$$\begin{aligned} x f\left(\frac{x^2}{4}\right) \arcsin x &= (1-x^2) \sum_{n=1}^{\infty} \frac{(2x)^{2n}}{a_n} - x^2 \\ &= x^2 + \sum_{n=2}^{\infty} \left( \frac{4}{a_n} - \frac{1}{a_{n-1}} \right) 2^{2(n-1)} x^{2n}. \end{aligned}$$

Hence, by (9), the following identities can be obtained.

**Proposition 2.** *We get*

$$\sum_{k=0}^n \frac{a_k a_{n-k}}{2k+1} = 4^{2n} \left( \frac{4}{a_{n+1}} - \frac{1}{a_n} \right) = \frac{2^{4n+1}}{(n+1)a_{n+1}} = \frac{16^n}{(2n+1)a_n}, \quad (11)$$

$n = 1, 2, \dots$ , since we have the recurrence identity

$$(n+1)a_{n+1} = (4n+2)a_n,$$

and

$$2x f\left(\frac{x^2}{4}\right) \arcsin x = \sum_{n=0}^{\infty} \frac{2^{2n+2}}{(n+1) a_{n+1}} = \sum_{n=1}^{\infty} \frac{(2x)^{2n}}{n a_n}, \tag{12}$$

which is formula (9) from [4].

**Remark 3.** Originally, in paper [4] the proof of formula (12) is given first and after that formula (10) is deduced.

In the next section we prove (11) in the other way. In fact we prove the functional identity (17) which is more general than identity (11).

### 4. Some New Identities

First we introduce some auxiliary functions

$$A_n(t) := \sum_{k=0}^n a_k a_{n-k} t^k, \quad n = 0, 1, \dots$$

It is easy to verify that

$$f(x) f(tx) = \sum_{n=0}^{\infty} A_n(t) x^n. \tag{13}$$

Since

$$\frac{d}{dt}(f(tx)) = \frac{2x}{(1-4tx)^{3/2}},$$

thus, from (13), we get

$$\frac{d}{dt}(f(x) f(tx)) = \sum_{n=0}^{\infty} \frac{d}{dt} A_n(t) x^n.$$

Yet, conversely, we have

$$\begin{aligned} \frac{d}{dt}(f(x) f(tx)) &= f(x) f(tx) \frac{2x}{1-4tx} \\ &= x \left( \sum_{n=0}^{\infty} A_n(t) x^n \right) \left( \sum_{n=0}^{\infty} 2(4t)^n x^n \right) = \sum_{n=0}^{\infty} \left( 2 \sum_{k=0}^n (4t)^{n-k} A_k(t) \right) x^{n+1}. \end{aligned}$$

Finally, we derive the following identity

$$\frac{d}{dt} A_{n+1}(t) = 2 \sum_{k=0}^n (4t)^{n-k} A_k(t). \tag{14}$$

In [5], as well as in [6], the identity given below was proved

$$4^{-n} A_n((2x - 1)^2) = \sum_{k=0}^n \binom{n}{k}^2 x^{2k} (1 - x)^{2(n-k)}, \tag{15}$$

which is equivalent to the following one

$$A_n(t^2) = \sum_{k=0}^n \binom{n}{k}^2 (1 + t)^{2k} (1 - t)^{2(n-k)}. \tag{16}$$

Hence, for example, we obtain for  $t = 0$ :

$$a_n = \sum_{k=0}^n \binom{n}{k}^2,$$

and next for  $t = 2, 3$ , respectively, we get the formulae

$$A_n(4) = \sum_{k=0}^n \binom{n}{k}^2 9^k \quad \text{and} \quad A_n(9) = 4^n \sum_{k=0}^n \binom{n}{k}^2 4^k.$$

**Remark 4.** The following identities come from [5]:

$$\begin{aligned} \sum_{k=0}^n \binom{n}{k}^2 x^k &= \sum_{k=0}^n \binom{n+k}{2k} a_k x^k (1-x)^{n-k} \\ &= \sum_{k=0}^{\lfloor n/2 \rfloor} \binom{n}{2k} a_k x^k (1+x)^{n-2k} \\ &= 2^{-n} \sum_{k=0}^{\lfloor n/2 \rfloor} (-1)^k \binom{n-k}{k} a_{n-k} (1-x)^{2k} (1+x)^{n-2k}. \end{aligned}$$

By integrating (16) over  $t$  (from 1 to  $t$ ) the following identity can be obtained, which in fact is the main result of this paper.

**Theorem 5.** *We have*

$$\begin{aligned} \sum_{k=0}^n \frac{a_k a_{n-k}}{2k+1} (t^{2k+1} - 1) &= \sum_{k=0}^n \binom{n}{k}^2 \int_1^t (1 + \tau)^{2k} (1 - \tau)^{2(n-k)} d\tau \\ &= \sum_{k=0}^n \binom{n}{k}^2 \Omega_{2k,2n}(t), \tag{17} \end{aligned}$$

where

$$\Omega_{k,n}(t) := \int_1^t (1 + \tau)^k (1 - \tau)^{n-k} d\tau = \frac{(1 + \tau)^{k+1}(1 - \tau)^{n-k}}{k + 1} \Big|_1^t + \frac{n - k}{k + 1} \int_1^t (1 + \tau)^{k+1}(1 - \tau)^{n-k-1} d\tau,$$

which implies the recurrence formula ( $k + 1 \leq n$ ):

$$(k + 1) \Omega_{k,n}(t) = (1 + t)^{k+1} (1 - t)^{n-k} + (n - k) \Omega_{k+1,n}(t), \tag{18}$$

and, respectively, the following explicit formula

$$(n + 1) \binom{n}{k} \Omega_{k,n}(t) = - \sum_{i=0}^k \binom{n + 1}{i} (1 + t)^i (1 - t)^{n+1-i}, \tag{19}$$

for  $k = 0, 1, \dots, n$ . We note that

$$\Omega_{0,n}(t) = - \frac{(1 - t)^{n+1}}{n + 1}, \tag{20}$$

$$\Omega_{n,n}(t) = \frac{1}{n + 1} ((1 + t)^{n+1} - 2^{n+1}). \tag{21}$$

*Proof.* The proof of (19) follows by simple induction. □

**Corollary 6.** From (17) and (19), we obtain

$$\begin{aligned} -2 \sum_{k=0}^n \frac{a_k a_{n-k}}{2k + 1} &= \sum_{k=0}^n \binom{n}{k}^2 \Omega_{2k,2n}(-1) \\ &= - \frac{2^{2n+1}}{2n + 1} \sum_{k=0}^n \binom{n}{k}^2 \binom{2n}{2k}^{-1} = - \frac{2^{2n+1}}{2n + 1} \frac{1}{a_n} \sum_{k=0}^n a_k a_{n-k} \\ &\stackrel{(2)}{=} - \frac{2^{2n+1}}{2n + 1} \frac{1}{a_n} 4^n = - \frac{2^{4n+1}}{(2n + 1) a_n}, \end{aligned}$$

which is compatible with formula (11). More precisely, in this manner we obtain a new proof of relation (11) and, in consequence, we get Lehmer's identities (12) and (10).

**Corollary 7.** From (17) and (19) for  $t = 0$  we get

$$\begin{aligned} \sum_{k=0}^n \frac{a_n a_{n-k}}{2k+1} &= \frac{1}{2n+1} \sum_{k=0}^n \binom{n}{k}^2 \binom{2n}{2k}^{-1} \sum_{i=0}^{2k} \binom{2n+1}{i} \\ &= \frac{1}{2n+1} \frac{1}{a_n} \sum_{k=0}^n a_k a_{n-k} \sum_{i=0}^{2k} \binom{2n+1}{i}. \end{aligned}$$

Then we can generate the following formula

$$2^{2n} (2^{2n} - 1) = \sum_{k=0}^n a_k a_{n-k} \sum_{i=1}^{2k} \binom{2n+1}{i}.$$

**Final Remark.** The authors are in the course of preparing the second part of this paper concerning the convolution identities for inverses of the central binomial coefficients. The new paper bases mostly on the authors' former paper [7].

### References

- [1] H. Alzer, On rational approximation of  $(1-x)^\sigma$ , *Archiv der Mathematik*, **67** (1996), 134-137.
- [2] G.P. Gavrilov, A.A. Sapozhenko, *Selected Problems in Discrete Mathematics*, Mir, Moscow (1989).
- [3] D.E. Knuth, I. Vardi, R. Richberg, The asymptotic expansion of the middle binomial coefficient – Solutions to the problem 6581, *American Mathematical Monthly*, **97** (1990), 626-630.
- [4] D.H. Lehmer, Interesting series involving the central binomial coefficient, *American Mathematical Monthly*, **92** (1985), 449-457.
- [5] J. Riordan, *Combinatorial Identities*, Wiley, New York (1968).
- [6] A. Stadler, A positive polynomials, solution to the problem 11155 proposed by E. Kowalski and T. Rivoal, *American Mathematical Monthly*, **113** (2006), 945-946.
- [7] R. Wituła, D. Słota, Finite sums connected with the inverses of central binomial numbers and Catalan numbers, *Asian-European Journal of Mathematics*, **1** (2008), 439-448.
- [8] R. Wituła, D. Słota, Central trinomial coefficients and convolution type identities, *Congressus Numerantium*, **201** (2010), 109-126.